
16

2019(Even)
16264021626402

Time : 3Hrs.

Full Marks   : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 6  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O

Sem. IV - MOP

Mang. Acct.What do you understand by Current Account  ? 
Why and how it is prepared ?

account ? What are the main features of Receipt 
and payment accounts ? 

How is the amount payable to a deceased partner 
determined ? How would you calculate the amount
payable to the representative of a deceased 
partner ?

9.

OR( )

OR( )

6
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1. Choose the most suitable answer from the following

options :1x20=20

P.T.O

(ii)

(i)

(i)

7.

Answer all Five Questions. 
6x5=30

What is Ledger ? Is it necessary to post all the 

transactions in the ledger. 

of Joint ventures ? 

main characteristics of Fund flow statement ? 

OR()

6

8.

6

Sources of funds may be generated by:
(a) Transaction between current asset and
      fixed asset 
(b) Transaction between current assets and
      current liability 
(c) Transaction between fixed assets and 
      fixed liabilities
(d) All the above

(a) Total cost of an asset
(b) Market price of the asset
(c) Total cost of liabilities 
(d) None of these
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P.T.O

(iii)

(iii)

(iv)

(ii)

Increase in the amount of prepaid 

expanses results is 

(a) Decrease in cash 

(b) Increase in cash

(c) No effect on cash

(d) None of these

prepared. 

(a) For a particular period 

(b) On a particular date 

(c) For the whole year

(d) None of these

What are the problems that usually arises on 

the admission of new partner ?

importance of cash flow statement ?

insolvency Act and Provincial insolvency Act ? 

5.

OR()

4

OR()

4

6.

N4080 N4080



4 13 16264021626402

P.T.O

(v)

(v)

(vi)

(iv)

Which of the following is non-currents 

assets ?

(a) Trade investment

(b) B/R

(c) Prepaid expanses

(d) Debtor

(a) Partners

(b) Conventurers

(c) Shareholders

(d) None of these

4

depriciation ? Explain in brief any two of them. 

Accounting ?

4.

OR( )

4

3.

OR( )
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P.T.O

(vii)

(vii)

(vi)

Investment can be 

(a) Current assets

(b) Fixed assets

(c) Intangible assets

(d) Either (a) or (b)

time of 

(a) Admission of a partner 

(b) Retirement of a partner 

(c) Death of a partner 

(d) Insolvency of a partner 

(a) Capital Expenditure 
(b) Revenue Expenditure
(c) Cash Expenses 
(d) None of these

(xx)

(viii)

Answer all Five Questions. 

2.

4x5 =20

4

What do you mean by financial statement ? What 
are the objectives of financial statement ?

admission of a new partner ?

OR( )

(xx)
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P.T.O

(ix)

(ix)

(viii)

(a) Subjective 

(b) Objective

(c) Subjective and Objective both 

(d) None of these

shown :

(a) On the liabilities side of the balance sheet

(b) On the assets side of the balance sheet

(c) On the credit side of the trading A/C

(d) On the debit side of the trading A/C

(xix)

(xix)

Personal A/C is related to :

(b) Expenses, Losses and Incomes 

(c) Customers and Creditors

(d) Persons, firm and companies  

Balance sheet is prepared :

(a) For a particular period 

(b) On a particular date 

(c) For the whole year

(d) None of these

(x)

(xviii)

(xviii)
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P.T.O

(xi)

(xi)

(a) Commodity to be bought and sold 

(b) Commodity to be bought but not to be 

      sold

(c) Commodity to be used as an asset

(d) Commodity to be consumed 

(a) Assets and liabilities 

(b) Expenses, Losses and incomes 

(c) Persons, firms and companies 

(d) Customers and creditors

(xvii)

(xvii)

Average due date is 
(a) The date on which bill of exchange matures 
      for payments 
(b) The date on which different amount due 
      on different dates may be settled without 
      gain or loss of interest  
(c) The due date of which principal amount 
      and interest payable are equal.
(d) None of these

(x)(xvi)

(xii)
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P.T.O

(xiv)

(xiii)

(xiii)

Which of the following is not the tool of 

management accounting ?

(a) Human Resources Accounting 

(b) Standard Costing 

(c) Budgetory Control

(d) Decision Accounting 

(a) Cash basis of accounting 

(b) Accrual basis of accounting

(c) Both (a) and (b)

(d) None of these

The maximum number of partners in a 
partnership firm for general business should
be
(a) 20
(b) 30
(c) 40
(d) 50

techniques of financial control because :
(a) It aims at minimizing the blockage of 
     capital in inventory 
(b) it minimizes the cost of product 
(c) It minimizes storage / preservation cost 
(d) All the above

(xii)(xiv)

(xv)

(xv)

(xvi)

N4080 N4080



17 17 16264021626402

P.T.OP.T.O

What is Budget ? Explain its preparation process

and classify it. 

advantages and disadvantages of Hire - purchase

system ?

Differentiate between dissolution by court and 

dissolution by notice. 6

11.

10.

OR( )

6

What is Budget ? Explain its preparation process

and classify it. 

advantages and disadvantages of Hire - purchase

system ?

Differentiate between dissolution by court and 

dissolution by notice. 6

11.

10.

OR( )

6
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What is the role of financial manager in minimizing
investment in inventory ?   

***

OR()

What is the role of financial manager in minimizing
investment in inventory ?   

***

OR()

N4080 N4080
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